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33" Which of the following function is surjective but not injective
(A)f:R>R fx) =x*+23 -x* +1 “B) f:R2

=x3+ 2% - x +1
(OF:R>R" £(x) = 14 %2 D). f:R >R £
24. Iff(x) xIx{ Ihcnf' (x) equals-

) Jix] N
Md‘ﬂ’e sgn(x) denotes signum funcuon of x)
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(D) Does not exist

I£f:(203] > [70); f(x)= x> —6x + 16, 1hcnwhnchofthcfollowinglstme-
B) [(x)=3-V*~

(A f (0= 3437

DO D) f is many-0one
G x'—6x+16 @]

§ 26. [ : R — R such that f(x) = en(x +Jx’+l). Another function g(x) is defined such tha
gof(x)=x V x € R. Then g(2) is - »
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otP (x) = ka® + 2k + K. The sum of all real numbers k for which (x —2) is a factor of P(x), is
AL B3 ©)-4 (et

Which of the following is the graph of y =[x = 1| + [x = 3| ? | .
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\/{ Period of function f )= M{M Jxip+ “"‘[ ](wbcte{ e s H e







